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Note: our 8210 invokes 2 exegetical approaches to rules and examples: vy 71373, - the general is seen as all-inclusive and the ex-
ample as a single exclusion; the other method is v19) 555 — the general is seen as a principle and the example as defining the group.
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I Continuation of 'n nwn: "2 ny1aw about the past:
a  Snypw 1 only applies to future, as per 2009 W Yy (v. 1)
b py7rif so, should only apply to clear cut deprivations (»n%) or benefits (20°n%)
i Response: RV IWR 937 exands to include “benefit-neutral” actions
ii  Retort: same expansion allows for "2 ny1aw about the past
¢ jpnr’7s explanation of dispute:
i Teachers: (see note above)
1’7 studied with nipn 12 ®1IN1 "7 — was trained to read D*v19) DY
(a) Read: 593 :yawn »; V19:2°0°19 IR YINY; HHI:RVD? TVR YD
(i) Therefore: v1a, which is about the future defines all — must be the future
(ii) Note: the D593 allow expansion to oaths beyond a clear navm nyn
1. And: the 015 excludes oaths about the past — even if they relate to a clear navm nyIn
2. Question: why not the inverse?
a.  Answer (pny’ ”7): must follow lead of Y1 %1 (v. 2) — a commitment which may be fulfilled
b. Alternate (pan 92 pny’ ’7): per v. 1 — 8019 yawn ’3; oath must precede action ("0>1)
2 77 studied with vy WX DIN) — was trained to read Do M DM
(a) Read: »27 :yawn 3; V1NNV IR YINY; MRV TR HIH
(i) Therefore: all are included, only mxn 727 is excluded
IT  Related discussion: application of n»awa oRA (v. 1) — exemption of oNR
a  DIRN—exempts ONR
i meaning: if he forgot, at the time of his oath, what had really happened
1 example: story of 27 *1non, each swore as to what 171 had taught; errant one didn’t violate 1pw ny1aw — onx
b nn oYy nmawa - only if he forgot the oath, not the object (?)
i reaction (in»’N): they dismissed it — as there is no way to forget the object
1 (assumption: “forgetting” object means forgetting the terms of the oath, not oblivion to reality)
2 explanation: forgetting oath is understandable — he remembered that he took an oath concerning, e.g. wheat
bread, but forgot if it was “to eat” or “to avoid eating” - remembered object, forgot oath
(a) but: if he remembered that he swore not to eat, but thought it was “barley bread” — that’s n»aw noyn
ii  conclusion (8”): they are one and the same (72w nbyn::pan noyn)
iii  defense (901 79): if he remembered the oath, but thought he grabbed barley bread but it was wheat bread
1 blockl (»an): since he brings the 129p for what he eats, it’s still nyaw nbyn
2 block2 (»an): the 127p is brought for this bread — which he forgot he foreswore — nyaw noyn
(a) defense (901 37): had he known this was wheat, he would’ve avoided it = yan n%yn
¢ Question (1775 837): if he forgot both (yam n»1av) is he liable?
i Answer: yes — he did forget ny1aw
i Counter: he forgot yan — should be 7108
i owN 7's solution: see if he stepped away when reminded of n»1aw or yan
1 Block: in either case, both components play a role in his avoidance when reminded
2 Conclusion: should be exempt (1) or it is a ypn (VXRn ")
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III  x17’s question of 1": Identifying "2 ny1aw as it applies to the past —amwa
a  lemmal: if he knows that he’s lying — 17m
b lemma2: if he forgot — considered vR (as above, with 17's students)
¢ answer: if he remembered what really happened, but didn’t remember if he’s liable for 127p for 72yw% "0’a N1V
i challenge: this seems to accord only with rann (contra wnan) — forgetting liability of 129p constitutes anw
ii  defense: could be 1327 — they only disagree with rann in regular cases (where 1297 is expected — in case where Tt
=173, as per model of 1y);
1 but:in this case, which is odd, as the 71 is a 189 but the n»w = 117p, 1327 may agree that j29p naw =mv
d  related question (822270f X37): if he took an oath against eating a particular loaf and then avoiding it becomes mortally
dangerous (i.e. there’s nothing else to eat) — should he eat it?
i answer: this is obvious — w91 Mmpa trumps NP1V
ii  modified question: if he would have eaten it anyway (due to non-threatening hunger) but forgot about the ny»aw
1 answer: if he repents once he is informed — 12992 27n; else, exempt
(a) and:in this case, being reminded of the oath would not have prevents him from violation = 92
IV 9%nv’s ruling about “internal oaths”
a  if: he committed to an oath in his heart — invalid until he expresses and enunciates with his lips
i challenge: nawa RvV1Y (v. 1) — means that he must express with his lips
ii  but: same 8”1 infers from end of ;s (D'Nawa ®v1Y) that if he committed- valid (w/o verbalization)
iii  internal contradiction: resolved (NVW "7):
1 if: he committed to express verbally — invalid until he does so
2 but if: he committed internally — valid at that point
3 resolution: of Rm21 —
(a) but: HRnw is still challenged
(b) resolution: (v™) — reread Rn>M1 —
(i) if: he committed to say X and said Y - invalid
(i) but if: he committed to say X and said “all letters” (a group which includes X) — valid
(c) challenge: v. 3 implies a requirement to express verbally (in case of wTpn »11)
(i) v4: extends to a commitment in his heart to make a donation to wTpn
(ii) explanation: why don’t we apply v. 4 to m»aw and allow for “internal commitments” to be valid?
1. answer: because v. 4 (97pn) and v. 5 (MMIN) are TNRI DRIN D’ MW — cannot be applied
a. question: what about according to nn> "1 — PTR%n TNRY DRIN DN NV?
b. answer: we cannot infer rules of P91 (including my»av) from owTp
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